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Sample Paper – 2010

Class – X
Subject – SOCIAL STUDIES

Time allowed: 3 hours]                                                                       [Maximum marks: 80

General Instructions:

(i) There are 29 questions in all. All questions are compulsory.

(ii) Marks for each question are indicated against the question.

(iii) Questions from serial number 1 to 10 are 1 mark questions. Answer of these questions may be from one word to one sentence. 

(iv) Questions from serial number 11 to 18 are 3 marks questions. Answer of these questions should not exceed 80 words each.

(v) Questions from serial number 19 to 28 are 4 marks questions. Answer of these questions should not exceed 100 words each.

(vi) Question No. 29 is a map work question. Attach the map inside your answer book.   

1. What were the ‘Corn Laws’?                                                                                1

OR

    Who set up the first jute mill in India?                                                                 1
OR

    Name the three Presidency Cities of colonial India.                                            1

2. What was the theme of Charlotte Bronte’s ‘Jane Eyre’?                                     1

OR

    Name two reformers who wrote against the injustices of the caste system.         1

3. Why are laterite soils less fertile?                                                                         1
4. “The greatest degrading factors behind depletion of forests are grazing and fuel-wood collection.” Do you agree? Why/Why not?                                         ½+ ½=1

5. When does ‘water stress’ occur?                                                                          1

6. Mention the two major geological ages to which coal deposits in India belong. 1

7. Define ‘majoritarianism’.                                                                                      1
8. Besides strictly laid-out constitutional provisions, what is the real reason behind the success of federalism in India?                                                                           1

9. What are the two modern forms of money?                                                          1

10. Expand ‘HDI’. What is India’s HDI rank in the world?                         ½+ ½=1

11. Read the following extract from the textbook and answer the questions that follow:
On 6 January 1921, the police in United Provinces fired at peasants near Rae Bareli. Jawaharlal Nehru wanted to go to the place of firing, but was stopped by the police. Agitated and angry, Nehru addressed the peasants who gathered around him. This is how he later described the meeting:

‘They behaved as brave men, calm and unruffled in the face of danger. I do not know how they felt but I know what my feelings were. For a moment my blood was up, non-violence was almost forgotten – but for a moment only. The thought of the great leader, who by God’s goodness has been sent to lead us to victory, came to me, and I saw the kisans seated and standing near me, less excited, more peaceful than I was – and the moment of weakness passed, I spoke to them in all humility on non-violence – I needed the lesson more than they – and they heeded me and peacefully dispersed.’
(a) Explain- “I needed the lesson more than they.”

(b) Who was the ‘great leader’ Nehru refers to? What method of mass struggle did he propogate?                                                                                  2+1=3

12. How did women participate in the Civil Disobedience Movement? Did this necessarily mean any major change in the way women were visualised? 1½+1½=3 

13. Why did poor Indian peasants agree to emigrate abroad? Why has nineteenth-century indenture described as a ‘new system of slavery’?                       1½+1½=3 

OR
      Give three examples where hand labour was still preferred to machines in Victorian England.                                                                                            3x1=3
OR

      “City development everywhere occurred at the expense of  ecology and the environment.” Explain, and give any two examples..                                      1+2=3

14. Explain, giving three points, the theme and significance of ‘Sevasadan’. 3x1=3  

OR

      “Print technology did not entirely displace the existing art of producing books by hand.” Explain the statement in three points.                                              3x1=3

15. “Social divisions should sometimes be expressed in politics.” Justify.              3
16. What is the basic thinking behind communalism? Do you agree? Why/Why not?                                                                                                            1½+1½ =3

17. The following table shows sources of credit for rural households in India in the year 2003:-                                 

	SOURCES
	SHARE

	MONEY LENDERS
	30%

	COOPERATIVE SOCIETIES
	27%

	COMMERCIAL BANKS
	25%

	OTHERS -RELATIVES, FRIENDS, ETC.
	18%



Answer the following :-
 (a) What is the share of the formal sector in the total credit?                                  1
(b) How can we expand the share of formal sector in extending credit?                  1 

(c) Give two reasons for the moneylender still being the largest source of credit.   1  
18. What is meant by ‘sustainability of economic growth’? Enumerate two ways in which a country’s economy can grow sustainably.                                          1+2=3 

19. How does the story of the Ho Chi Minh trail indicate the nature of the war that the Vietnamese fought against the US? Give any four points.                         4x1=4
OR

      How did England assert its dominance over Scotland and Ireland while trying to forge the United Kingdom? Give two points for each.                                2+2=4

20. Study the given map showing areas in the country where wheat is grown, and answer the questions that follow: -

 [image: image1.emf]
(a) Name two states which are major producers of wheat.

(b) Name the two major wheat-growing zones in india.

(c) Give two requirements to grow wheat crop.                                     1+1+2=4 

21. Which city is called the electronic capital of India? Give any three points to explain the significance of the information technology/electronics industry.  1+3=4

22. What is trade? Where does it take place? What are the components of trade? What do you mean by a favourable or unfavourable balance of trade?           4x1=4
23. What is decentralisation? Explain the need for decentralisation in the Indian context. Give two ways in which decentralisation has been strengthened after  amendments were made to the Constitution in 1992.                                  1+1+2=4

24. What is a multi-party system? Give one advantage and one disadvantage of this system.Why would/wouldn’t you consider this type of system suitable for India?                                                                                                            1+1+2=4   

25. Why is democracy considered superior to all other forms of government? Answer in four points.                                                                                      4x1=4

26. What is under-employment? How are workers in the primary sector in India under-employed? Why hasn’t there been a shift of workers towards the secondary and tertiary sectors?                                                                                     1+2+1=4

27. Explain the significance of Consumers Protection Act, or COPRA, in the history of the consumer rights movement in India, in four points.                  4x1=4
28. Explain,in four points, the factors that enabled globalisation in India.      4x1=4

29. Six features with serial numbers 1 to 6 are marked in the given outline political map of India. Identify features with the help of given information and write their names on the lines marked in the map :      
(A) Site of Congress Session of 1920
(B) No Tax Campaign

(C) Thermal Power Plant

(D) Woolen Textiles Centre

(E) Iron and Steel Plant

(F) International Airport                                                                                   6x1=6
OR

Locate and label the following on the given outline political map of India :
(A) Surat

(B) Champaran

(C) Rihand Dam

(D) Westernmost terminal of East-West Corridor

(E) Kandla Port

(F) Software Technology Park in Madhya Pradesh                                          6x1=6
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Map for Q. 29
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